Quiz IV General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 10/16 W 9:30 am Form A quiz #

Name /< e'(g/ Name

(print name) (sign name)

Please show all work for full credit & for partial credit for all questions.
1. Complete the following precipitation reaction by filling in each blank with an ion or molecule. (5 pts)

molecular equation

NaWClz (aq) > ZJVJ{(i(aq) + BaSO04(s)

ionic equation

f gt
IN& () + SO& (@) + B, (ag) + 2CI > 022 Oqé (s) + 2Na'(aq) + 2 CI'(aq)
2. Circle the following which are strong acids. (5 pts)

HF @ CH:COOH @

3. Assign oxidation state of the § in 8042  (oxygen has ox state = -2)(show work). (4 pts)

5 4 #(-2 = —

S= =244 s
4. If you have 2.2 moles of a gas in 501.2 mL volume at 278.2 K, what is the pressure in atmospheres.

[PV =nRT, R=0.08206 (L atm)/(mol K)] (I made up these numbers so the n[umbers hﬂ’ﬁﬂtﬂg—ﬂjﬂ——————\‘
90 i Z R "7
4 ’ ﬁ h/)(/aann’ 0.5012
onveddo f
| . 274

( 0,08206 Rabs,
0, Gol2 &

EC (3 pts): If the total pressure of N> (g) and H; (g) is 1.2 atm and the pressure of H, is 0.8 atm, what is

the pressure of the N ? fé@(— = @NL_(, ‘P!‘b/ f/\/;,; /! Z_Q;Hn - Oufﬂ)\éfy«
o= Ce = Fu P, = 0.4 ghm



Y /g
Quiz IV General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 10/16 W 9:30 am Form B quiz #

Name / C,@? - Name

(print name) (sign name)

Please show all work for full credit & for partial credit for all questions.

1. Complete the following precipitation reaction by filling in each blank with an ion or molecule. (5 pts)

molecular egtdtion

c12(aq)+ Mgcos + 2 L5 (4 @i

ionic equation
—~1 ~ —
21 @) + L0y, o) + Mg a) +) (Rag) > MgCOs @+ 2Li*(aa) 22U

2. Circle the following which are weak acids (5 pts)
PR

HNO; @ HCl CH;COOH HaSO,

3. Assign oxidation state of the S in SOs7 (oxygen has ox state = -2)(show work).(4 pts)

St 3(-2)=-1
S = Ztés +¢

4. If you have 4.1 moles of a gas in 378.2 mL volume at 178.1 K, what is the pressure in
atmospheres. [PV =nRT, R=0.08206 (L atm)/(mol K)] (I made up these numbers so the

nu{l]bers have no relation to reality.) (6 pts) " "

v=3182ml— Yt

=534 gt — Zs;ﬁfg——) /ré)(/é?l%},\

EC (3 pts): If the total pressure of O: (g)and N> (g) is 1.7 atm and the pressure of N is 1.0 atm, what is
the pressure of the O; ?

gyéoe 26)% + Fv
yC’L = F’é‘o(‘ ’_FU), = /,764}“-“ /z&d{'w\ = 0. 76?.21)_,_\



Quiz IV General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 10/16 W 10:30 am Form A quiz #

Name ] (,f/q, Name
(print name) Jd (sign name)

Please show all work for full credit & for partial credit for all questions.

1 Complete the following Acid Base reaction by filling in the blanks. (5 pts, 2.5 pts each)

2HNO; + Ba(OH), = @&1 @}D’YJQ_ + 2, H’? 0

2. Circle the following which are strong bases. (Assume everything is completely soluble in water) (5
pts) —

NH; . NH,; OH KOH

3. Assign oxidation state of the P in PO, (oxygen has ox state = -2) (show work).(4 pts)

p+ 4(-1)=-%
F= 54y =45

4, You have a gas cylinder in an intemal combustion engine which contains a mixture of gases at 1.00
atm pressure, 298 K, with an initial volume of 1.78 Liters. If the piston in the gas cylinder is pushed in so

that the volume of the gas becomes 0.98 Liters at a temperature of 320 K, what is the new pressure?
[(PIVI) / (P;_V;) Tlf}" 2)] (I made up these numbers so that the nymbers have no relation to reality.) (6 pts)

O __@}; - 75— So (f“e-ﬂl?\h
T, A 4 /¢ ?—“‘a(gﬂém
@;., v - (5200(] 60ab)(],190)
TV (295900, 9 68)

= [ A odt. o Lsigby
V2= 2,0

EC (3 pts): Ifa gas is collected over water, and the total pressure is 722 mm Hg, if the water pressure is 5.0

mm Hg, what is the pressure of the gas ? p
09901) = '7/? PN {:g/




Quiz IV General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 10/16 W 10:30 am Form B mﬁzléﬁw

Name /( dnn Name

(print name) Jd (sign name)

Please show all work for full credit & for partial credit for all questions,

1. Complete the following Acid Base reaction by filling in the blanks. (5 pts, 2.5 pts each)

CHy8-0~H + NaoH > C I} 5—@*{) Ha + %/D

2. Circle the following which are weak bases (you should assume that everything is completely soluble
in water) (5 pts) -

N
NH; Na OH Ba (OH), @ KOH

3. Assign oxidation state of the N in NO;~ (oxygen has ox state = -2)(show work). (4 pts)

N+3(-2) =
N= A +6=+9

4. You have a gas cylinder in an internal combustion engine which contains a mixture of gases at 5.22
atm pressure, 323K, with an initial volume of 5.23 Liters. If the piston in the gas cylinder is pushed out so
that the volume of the gas becomes 10.7 Liters at a temperature of 323K, what is the new pressure?

[(P1V1) / (P2V2) = T1/T2)] (I made up these numbers so that the numbers have no relation to reality.) (6 pts)

? S, 2204 Ward Vo 0~ Ly For- €asier o
=30k £ h_ T 5 011»;’5) AR A
l/ BT S 47N 1 U

V= 1070 p 2R 52 ab) (5200 "
= 20 GED(0R)

7
WL: 7' fl:: 55 ffm (,551»;; Aég,)

EC (3 pts) Ifa gas is collected over water, and the total pressure is 775 torr, if the water pressure is 2.2

torr, what is the pressure of the gas ?
_ = Poeat = FPaas tlit o

Poas = P Phy
F;ﬁf‘é’t '7’)92?% 2. Z*waf :775‘49""”




Quiz IV General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 10/16 W 9:30 am Form A quiz #

Name Name

(print name) (sign name)
Please show all work for full credit & for partial credit for all questions.

1. Complete the following precipitation reaction by filling in each blank with an ion or molecule. (5 pts)

molecular equation

N804 (aq) + Ba Cl, (aq) > (ag) + BaSO04(s)

ionic equation
(@ + SO& @)+ {aQ+2CT > _ (s)+ 2Na'(aq) + 2Cl'(aq)
2. Circle the following which are strong acids. (5 pts)

HNO3; HF HCli CH;COOH H>S0,

3. Assign oxidation state of the S in S04? (oxygen has ox state = -2)(show work). (4 pts)

4. If you have 2.2 moles of a gas in 501.2 mL volume at 278.2 K, what is the pressure in atmospheres.
[PV = nRT, R=0.08206 (L atm)/(mol K)] (I made up these numbers so the numbers have no relation to
reality.) (6 pts)

EC (3 pts): If the total pressure of Na (g) and H; (g) is 1.2 atm and the pressure of Hy is 0.8 atm, what is
the pressure of the No ?



Quiz IV General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 10/16 W 9:30 am Form B quiz #

Name Name

(print name) (sign name)

Please show all work for full credit & for partial credit for all questions.

1. Complete the following precipitation reaction by filling in each blank with an ion or molecule. (5 pts)
molecular equation
Li; COs(ag) + Mg Cla(aq) > MgCO;(s) + (aq)

ionic equation

2Li'(aq) + __ (aq) + Mg?(aq) +___ (a) > MgCO3(s)+ 2Li'aq) + ___ (aq)
2. Circle the following which are weak acids (5 pts)

HNO; HF HCl CH3;COOH H804

3. Assign oxidation state of the S in SO3 (oxygen has ox state = -2)(show work).(4 pts)

4. If you have 4.1 moles of a gasin 378.2 mL volume at 178.1 K, what is the pressure in
atmospheres. [PV =nRT, R=0.08206 (L atm)/(mol K)] (I made up these numbers so the
numbers have no relation to reality.) (6 pts)

EC (3 pts): If the total pressure of O, {g) and N, (g} is 1.7 atm and the pressure of N is 1.0 atm, what is
the pressure of the O, ?



Quiz IV General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 10/16 W 10:30 am Form A quiz #

Name Name

(print name) (sign name)
Please show all work for full credit & for partial credit for all questions.

1 Complete the following Acid Base reaction by filling in the blanks. (5 pts, 2.5 pts each)

2HNO; + Ba(OH), = +

2. Circle the following which are strong bases. (Assume everything is completely soluble in water) (5
pts)

NH; Na OH Ba (OH), NH,; OH KOH

3. Assign oxidation state of the P in PO, (oxygen has ox state = -2) (show work).(4 pts)

4, You have a gas cylinder in an internal combustion engine which contains a mixture of gases at 1.00

atm pressure, 298 K, with an initial volume of 1.78 Liters. If the piston in the gas cylinder is pushed in so
that the volume of the gas becomes 0.98 Liters at a temperature of 320 K, what is the new pressure?
[(PyV1)/ (P2V3) = T/T,)] (I made up these numbers so that the numbers have no relation to reality.) (6 pts)

EC (3 pts): If a gas is collected over water, and the total pressure is 722 mm Hg, if the water pressure is 5.0
mm Hg, what is the pressure of the gas ?



Quiz IV General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 10/16 W 10:30 am Form B quiz #

Name ' Name

(print name) (sign name)
Please show all work for full credit & for partial credit for all questions.

1. Complete the following Acid Base reaction by filling in the blanks. (5 pts, 2.5 pts each)

R
CH;C—-O0-H + NaOH - +
2. Circle the following which are weak bases (you should assume that everything is completely soluble
in water) (5 pts) '
NH; NaOH Ba (OH), NH4 OH KOH

3. Assign oxidation state of the N in NO3™ (oxygen has ox state = -2)(show work). (4 pts)

4. You have a gas cylinder in an internal combustion engine which contains a mixture of gases at 5.22
atm pressure, 323K, with an initial volume of 5.23 Liters. If the piston in the gas cylinder is pushed out so
that the volume of the gas becomes 10.7 Liters at a temperature of 323K, what is the new pressure?

[(P1V1) / (P2V2) = T1/T2)] (I made up these numbers so that the numbers have no relation to reality.) (6 pts)

EC (3 pts) Ifa gas is collected over water, and the total pressure is 775 torr, if the water pressure is 2.2
torr, what is the pressure of the gas ?



